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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  Wolf Hall 
 

1p 1 Which of the following fits the gap in the text? 
A acknowledging 
B adding to 
C discussing 
D focusing on 
E simplifying 
 
 

Tekst 2  The NHS 
 
“It is essential for all staff to be able to raise any concerns they have.” 
(laatste zin) 

2p 2 Welke twee factoren verhinderen dit nu, volgens Amanda Casey? 
Geef antwoord in het Nederlands. 
 
 

Tekst 3  All that glisters 
 

1p 3 What is the main point made in paragraph 1? 
A All relationships are imperfect. 
B Appearances can be deceptive. 
C Romantic love is generally undervalued. 
D Wealth and matrimonial bliss are unrelated. 
 
“a grand bazaar of golden caskets” (paragraph 2) 

1p 4 Why does the writer characterise Tinder in this way? 
He wants to make clear that using Tinder 
A improves the process of finding a compatible partner for singles 

looking for true love. 
B leads to indecisiveness as users are trapped in a never-ending cycle 

of swipes. 
C offers numerous opportunities to find potential dates on the basis of 

superficial qualities only. 
D results in people feeling isolated in a deceitful environment of fake 

interactions. 
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“this etiquette” (alinea 3) 
1p 5 In welke zin staat beschreven hoe ‘this etiquette’ werkt? 

Citeer de eerste twee woorden van deze zin. 
 
 

Tekst 4  Gentrification  
 
“Gentrifier has surpassed many worthier slurs to become the dirtiest word 
in American cities.” (paragraph 1) 

1p 6 What is ‘dirty’ about the word ‘gentrifier’, according to the text? 
According to critics it stands for 
A a group of residents who have lost their sense of decency.  
B affluent citizens who drive away the original residents. 
C people who have enriched themselves at the expense of others. 
D people whose intolerance makes the city difficult to live in. 
 

1p 7 Which of the following fits the gap in paragraph 2?  
A highlight 
B ignore 
C misrepresent 
D reinforce 
E undermine  
 

1p 8 What is paragraph 3 meant to make clear? 
A that the government is reluctant to regulate the local housing market 
B that the rich may not be depriving the poor of reasonably priced 

houses 
C that there is a correlation between increasing housing prices and 

poverty 
D that there is a tenuous connection between income and social mobility 
 
The first sentence of paragraph 4 has been left out.  

1p 9 Which of the following was the original first sentence of paragraph 4? 
A Gentrification has become so widespread that no one is certain what 

its economic consequences might be. 
B Gentrification has been misrepresented in such a way that publications 

about it have had adverse effects.  
C Gentrification has been so thoroughly demonised that a mere 

discussion of its benefits might seem subversive.  
D Gentrification has caused politicians to claim that it has grave 

implications for urban development.  
 


